Equations

dsin (0) = mA  Double slit, 2dsin () = mA  Bragg
: : : A .
asin (#) = mA  Single slit, Opes = o (slit), Opes =1.22 D (hole)
dsin (0) = mA Dif fraction grating, Resolving Power, R =mN = A
Az =0, \, 2), 3\..

¢ =0,2m,47n,6m...  Constructive Inter ference
Ax = \/2, 3\/2, 5\/2...

¢ =m,3m,57... Destructive Inter ference
27 .
p=m (if n1 <ng) Az =\/2

= KTLA ) Ky, = N/
¢ ’ A/n

E = % (photons!)

MnaeT = 0.2898 x 1072 m K,
Einreshoid = © (Work Function)

¢ KEna: = eVstopa

KEmax = Lphoton — ¥,
p2
Ascattered — Nincident = mec(l — COS (9)), KE = %
AxAp, > %, AEAt > %, A= %(DeBroglie) L= %(Bohr)
Ke? 1 h? 13.6eV
¢ = E, =— 3:26 (Z—-X)*(X for Screening)

Bp=-22— s
" 2a, n?’ o (27)2meKe?’
my = —,—(+1..4—1,0 mg==+1/2
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Constants
h = 6.626 x 1073%4J s he = 1239.8 eV nm
1eV =1.6022x 107197
Meiectron = 9.11 X 10_31 kg

2.9979 x 10® m/s
e = 1.6022 x 10719 ¢
me & = 0.511 x 108 eV



